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Marking Scheme

Statistical Measures
Questions 30 – 50 
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Question

Working Answer [Mark |Notes
number
@ |1=15indicated on S
graph
or 70-72 inc stated
5 AT Accepts-10inc
® T20amd600r 201 and e
603 indicated on
cumulative frequency
axis or stated
or66.5 and 11-11.5
stated
T56me AT Ananswerkn therange -

6 inc with no indication
of method scares 2 marks
BUT donotaward Alif
an answer in the range 5-6
inc has clearly been
obtained by finding the
difference betweentwo
values, one or both of
which are outside the
ranges

6-6.5and 11-11.5

For example, if working
is12-7or

12 -6 donotaward Al

Total 4 marks
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Question

Working Answer [Mark |Notes
number
@ [1x3+2x6+3x5 3 MI for finding atleast4
8+ 5x2+6x1 correct products and
or3+12+15+32+ summing them
10+60r78
7T =25 MI(dep) for division by 25
Accept division by their
25, f addition shown
Al Alsoaccept3 or31if
both method marks scored
®) 2 | M
Al
©0 LI VR o
for B M oc
£ T
Al =
for 8 ocinc 30
[} i1 forone correctproduct
for sum of all 3 correct
M1 products
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60
S0 e

Al

= L
for 600 oeinc 10

"Note for (c)(i): sample
spacemethod— award3
‘marks for correct answer
otherwise nomarks

or2x 2 px
SC Sample space meth
o
—award 2 marks for 623
otherwise nomarks

Total 10 marks
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Question Working Answer | Mark Notes
@ 10| 1 | BI Allowvalues fom8-12
(®) 90| 1 Bl Allow values in range 88-92
© Qi 68 at CF =30 01 3025 2 | M1 for 30 and 90, or 30.25 and 9075, or 68
Q=1 900r90.75 (64 - 68) and 118 (115-119) stated or
indicated on graph
50 AT Fttheir values for Lower Quartile and

Upper Quartile as long as in given range

Total 4 marks
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Ques Answer | Mark Notes
a M
M1 | for a complete method
2 3 [Al
B MI | £t from (a) for a complete
method to find age of 3" person
MI | dep
or for 1825
7 3| AL | f from answerin (a)

Total 6 marks
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Question| Working | Answer | Mark Notes
@ | Eg80-10 MIfor two CF values obtained using 1Q values of 83
and 115 (+ 2 square)
69- 73 2 Al Accept answer in range 69 — 73 unless clearly
obtained by incorrect working
®) |CE=175 MIfor CE value of 75 or 75.75 stated or marked on the
graph.
108-112 AT Accept answer in range 108 — 112 unless clearly

obtained by incorrect workins

Total 4 marks
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Question Number| Working | Answer | Mark Notes
o Ix2+4 B MI_for sum of
X5+5x products
1446 % condone one
19+7% error
10
or 6 + 20
+70+
114 + 70
or 280
280" + 50 M (dep) for
division by 50
56 AT cao Also accept
6 if both method
marks scored
and 5 following
5.6
() 5 B1 _ft fromtherr ()

Total 4 marks
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Question

‘Working

Mark

Notes

@

101014

BI

®)

22+ 6x7220x12-13%1728x223%27
ord+42+240+221+ 176+ 81 or 764

M2

Freq x all correct midpoint
values stated or evaluated with
intention to add (condone any
one error). Ifnot M2 then
award M1 for all products £/
(and tis consistently within the
interval, including end values)
and intention to dd (condone
any one error)

764 =52

M

(dep on at Teast M) for
division by 52. Accept their 52
if addition shown.

147

Al

For answer rounding to 14.7
Accept 15 with working (15
without working gains MOAG)

©

13+8+3
)

M

for13+8+3o0r240r
‘where a<52

w
®

4

e

Al

“Accept a decimal/percentage
answer 0.461538.. (46.15...%)
truncated or rounded to 3 or
more sig figs. Only accept
0.46(46%) if preceded by a
‘more accurate answer or
Mi(above) awarded.

Total 7 marks
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Question | Working Answer [Mark  |Notes

Number
(12x18)=(8x M2 Mifori2x18 (2216)ar8x 163
16.5) (=348) (=132)
348720 174] 4 Ml dep onatleast 1 previous Ml

Al 174

Alt Ratiomethod
Ml 12:8=32 or6:4
MI:  18x3and165x2  orl8x6
and16.5x4

Ml (18x3+165x2)=5 or(18x6
+16.5x4)~10

Al 174

At Proportion method
M1 60% boys and 40% girls stated or
implied
M2 (0.6x18)+(0.4x165)(=108+
6.6)

Mi for0.6x 18 0r0.4x 165
Al 174

SC B for 17.1 (from {(8x 18) + (12
16.5)}220)

Total4 marks
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Question Working Answer | Mark Notes
0] il 1 |51
®O | Gx)7@x9+0x107 a0 Mo Al products 7 % wsmg Vo way points comectly, 2
X19+(13%5+(6x 1) ‘ntention to sdd.
5 Avard M1 iall products, #  f using their 4 way
poins consistenly, rom 6 o nterval cmvards and
Antenton 1 add.
3287 (346+10415+5+1%) M (dep on oneatleast M)
52| 4 [Al  Accept  wth working 8 without working = M0AD
@ i pomts wed a5 B Meotion of - pouts o exact (achual) data 1
a5 schul dta s unknown
unknown 1
Total 6 marks
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‘Question ‘Working Answer Mark Notes
Y 2
G | 22100 e 2 M for % 0r0.65
65 Al cao
® T [V forat least two products 1
285%x2+295%x4+305%22+3.15x% x x consistently within
324325% 14+335%6 iatervals (nc end points)
or5.7+11.8+67.1+100.8+45.5+ M1 for complete correct
%01 method (condone any one
ertor)
NB.products do not need
to be evaluated
251 Al cao
(©) Use of w=3250n 2 M1  for correct use of w =325
graph on graph or implied by
any value in the range 63
— 70 stated
T0or 1or 12 AT accept any value in range
10-12 inc
(d) 20 and 60 or 20% b M1  or 3.2 and 3.07 indicated
and 60% indicated on graph or in working
on cumulative space
frequency axis or
stated
(X5} Al accept an answer that

follows through from
their correct lines on
graph and correct
readin

Total 9 marks
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Ques ‘Working Answer | Mark Notes
x=10 3 [BI_ ~
MI Showing that the total of the 4 numbers
isax 1l
o6 eg X +y =35 (ft incorrect x for
M) or values of x and  that total 35
(where x# 10, y #25)
=12 Al

Total 3 marks
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Ques Working Answer | Mark Notes
30 120 (= 3600) or 10 3 [MI 30x1200r10%95
95 (=950)
y o
10) the mean weight of the 40
(=45507 +40) _apples
11375 AT accept 1138, 114 providing M2

scored

Total 3 marks
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Working Answer | Mark Notes
42 %7 (=294) or 8 < 50 ML
(=400)
8x50—42%7 M1
106 3 Al

Total 3 marks
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Working

Answer

Mark

Notes

B2 Blfor2. 8 8or08 10or

for three numbers with a mean of 6 or a median of §

or 63 (=18)

Total 2 marks
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Question Working Answer [ Mark Notes

@ | 141617 18 20 21 22 MI arrange in order or

23232424 One of 21(median), 170LQ).
23(UQ) identified
(14 16 17 18 20 21 M1 Identify any fwo of 21, 17 and
222323 24 24) 23
(14 16 17 18 20) and
(22232324 24)
23-17
6] 3 |Alcao
® Carmeloand | 2 | BI ft from (a) Carmelo - he has a
reason using lower IQR oe

I0R

(IQR must be part of the statement)

Total 5 marks





image21.jpeg
‘Working Answer | Mark Notes
2)or1+9 or10-1 3 |MI
M1 A comrect method to find
the total of the 2 missing
sumbers
3and 10 Al IfMO scored then SCBI

for an answer of o
numbers with a sum of
13 or two numbers that
give asange of 9 for the 8
cards

Total 3 marks
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Working Answer | Mark Notes

Eg (3x4) + (976) + (1578) = M1 fx for 4 products with x
(21x9) + 27%3) or used consistently within
12+54+120+189 +81 interval (including end poiats)

& intention to add.

M1 (dep) for use of all correct
half-way values
456 3 Al Do not SW

ScB2 for 15.2

Total 3 marks
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Ques | Workin; Answer | Mark Notes
a  [2.9.18,28.39, Comect | 1 |BI
75.86. 100 table
5 M | (& from sensible table i.e. clear attempt at
addition)
for at least 8 points plotted correctly at end
of interval
or
for all 10 points plofted consistently within
each interval in the freq table at the
correct height
Comect | 2| Al | accept curve or line segments
cFeraph accept graph that is not joined to (0.15)
¢ |Eg foramark drawnat MI | for intention to use 25 on cf axis
25 on their cumulative
frequency diagram £ from a cumulative frequency graph
provided method is shown
T [AL[33-35
£ from a cumulative frequency graph
provided method is shown
d | Eg reading of 66— 68 MI | for a reading taken from 52 on age axis
©0) £ from a cumulative frequency graph
or reading from graph at provided method is shown
4=52
or mark on cf axis from
using 4 = 52
68" 1200(000) ML) (dep)
100
792000 — AT | for answer in the range 792000 ~ 816000
816000

Total 8 marks
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‘Working Answer | Mark Notes

90

2%

= oe
90

AT 28
for S 0e Eg 12 031(1..)
% 4

3101...0%

® 432 T [ BI [cao
62,78
86,90

© | (30.4) (40.32) (0. MT | (& from sensible table i.e. clear
62) (60.78) attempt at addition)

(70.86) (0, 90)
for at least 4 points plotted
correctly at end of interval

or

for all 6 points plotted
consistently within each
interval in the freq table at the
correct height

(e.g. used values of 25, 35, 45
etc on age axis)

correct AT | accept curve or line segments
of graph accept curve that is not joined
10 (20.0)

@ |E-g reading from MT | for cvidence of using graph at 1
graph at £ = 63 =65

or reading of 82—
84 ft from a cumulative frequency
or mark on cf axis graph provided method is

from using 1= 65 shown

6-8 | 2 | Al |deponactgraphin pari (©)
ft from a cumulative frequency
graph provided method is
shown

Total 7 marks
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Question | Working | Answer | Mark Notes

177 - ] B2 for1 7 7 inany order

B1 for three positive whole numbers with
with either a median of 7 or a sum of 15

SC AwardB1for0 7 8

6 B1 cao

Total 3 marks
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Question

Working

Answer

Mark

Notes

3x7 @20

M1

or for 3 numbers with a tofal of
21

or 3 numbers with a median of
5

or 3 numbers with a range of 14
or (a+c=)3x7-5 (=16)

1.5.15

Al

numbers can be in any order

Total 2 marks





